

## Some Results on Fuzzy Dual Modular Lattice

**Dr. V. Vinoba<sup>1</sup> and K. Nithya<sup>2</sup>**

<sup>1</sup>*Assistant Professor, K.N. Government Arts College for Women,  
Thanjavur - 613007, Tamilnadu, India*

<sup>2</sup>*Research Scholar (Part Time – Mathematics), Bharathidasan University,  
Thruchy – 2, Tamilnadu, India*

### Abstract

In this paper, Fuzzy dual Modular Pair in Fuzzy Lattice-Definition of Fuzzy Dual Modular-Characterization Theorem-Fuzzy Dual Distributive Lattice.

**Keywords:** Fuzzy Lattice, Fuzzy Dual Modular Lattice, Fuzzy Dual Distributive Lattice.

### Introduction

The concept of fuzzy lattice was already introduced by Ajmal, N[1], D. D. Anderson [2] explained the existence of Dual Modules, S. Nanda[5] and Wilcox, L. R.[6][7] explained modularity in the theory of lattices, G. Gratzer [3], M. Mullai and B. Chellappa[4] explained Fuzzy L-ideal, Yuan, B and W. Wu[8] explained Fuzzy ideals on a distributive lattice. A few definitions and results are listed that the fuzzy dual Modular lattice using in this paper, we explain Fuzzy Dually Modular Pair in Fuzzy Dual Distributive Lattice, Definition of Fuzzy Dually Modular Pair and Definition of Fuzzy Dual Distributive Lattice characterization theorem of Fuzzy Dual Distributive Lattice, Fuzzy Dually Modular Pair in Fuzzy Dual Distributive Lattice. If  $L$  is a fuzzy Dual Distributive lattice then  $\mu(a) \wedge \mu(b \vee c) = \mu(a \wedge b) \vee \mu(a \wedge c)$ , for all  $\mu(a), \mu(b), \mu(c)$  in  $L$ .

### Theorem: 1.1

In any Fuzzy lattice  $L$  the following are equivalent.

1.  $\mu(a \vee b) \wedge \mu(a \vee c) = \mu(a) \vee [\mu(b) \wedge \mu(a \vee c)]$
2.  $\mu(a \wedge b) \vee \mu(a \wedge c) = \mu(a) \wedge [\mu(b) \vee \mu(a \wedge c)]$ , for all  $\mu(a), \mu(b), \mu(c)$  in  $L$ .

### Proof:

(i)  $\Rightarrow$  (ii)

Let  $\mu(a), \mu(b), \mu(c)$  in  $L$  be arbitrary. Then

$$\begin{aligned}
\mu(a \wedge b) \vee \mu(a \wedge c) &\geq \min \{ \mu(a), \mu(b) \} \vee \min \{ \mu(a), \mu(c) \} \\
&\geq \min \{ \mu(a), \mu(c) \} \vee \min \{ \mu(a), \mu(b) \}, \text{ by commutative law} \\
&\geq \min \{ \mu(a), \mu(c) \} \vee \min \{ \mu(b), \mu(a) \}, \text{ by commutative law} \\
&\geq \min \{ \mu(a \wedge c), \mu(b) \} \wedge \mu(a), \text{ by (i) since } \mu(a \wedge c) \leq \mu(a) \\
&\geq \mu(a) \wedge \min \{ \mu(a \wedge c), \mu(b) \}, \text{ by commutative law} \\
&\geq \mu(a) \wedge \min \{ \mu(b), \mu(a \wedge c) \}, \text{ by commutative law} \\
&= \mu(a) \wedge [ \mu(b) \vee \mu(a \wedge c) ]
\end{aligned}$$

Thus  $\mu(a \wedge b) \vee \mu(a \wedge c) = \mu(a) \wedge [ \mu(b) \vee \mu(a \wedge c) ]$ , for all  $\mu(a), \mu(b), \mu(c)$  in  $L$

(ii)  $\Rightarrow$  (i)

**Let  $\mu(a), \mu(b), \mu(c)$  in  $L$  be arbitrary. Then**

$$\begin{aligned}
\mu(a \vee b) \wedge \mu(a \vee c) &\geq \min \{ \mu(a), \mu(b) \} \wedge \min \{ \mu(a), \mu(c) \} \\
&\geq \min \{ \mu(a), \mu(c) \} \wedge \min \{ \mu(a), \mu(b) \}, \text{ by commutative law} \\
&\geq \min \{ \mu(a), \mu(c) \} \wedge \min \{ \mu(b), \mu(a) \}, \text{ by commutative law} \\
&\geq \min \{ \mu(a \vee c), \mu(b) \} \vee \mu(a), \text{ by (ii) since } \mu(a \vee c) \geq \mu(a) \\
&\geq \mu(a) \vee \min \{ \mu(a \vee c), \mu(b) \}, \text{ by commutative law} \\
&\geq \mu(a) \vee \min \{ \mu(b), \mu(a \vee c) \}, \text{ by commutative law} \\
&= \mu(a) \vee [ \mu(a \vee c) \wedge \mu(b) ]
\end{aligned}$$

Thus  $\mu(a \vee b) \wedge \mu(a \vee c) = \mu(a) \vee [ \mu(b) \wedge \mu(a \vee c) ]$ , for all  $\mu(a), \mu(b), \mu(c)$  in  $L$ .

**Definition: 1.1**

A Fuzzy lattice  $L$  is said to be Fuzzy dual modular, if  $\mu(a \wedge b) \vee \mu(a \wedge c) = \mu(a) \wedge [ \mu(b) \vee \mu(a \wedge c) ]$ , for all  $\mu(a), \mu(b), \mu(c)$  in  $L$ .

**Theorem: 1.2**

Every Fuzzy modular lattice is a Fuzzy dual modular lattice

**Proof:**

Follows from the previous theorem.

**Theorem: 1.3**

If  $L$  is a Fuzzy modular lattice, then  $(\mu(a), \mu(b))$  is a dually modular pair for all  $\mu(a), \mu(b) \in L$ .

**Proof:**

Given  $L$  is a Fuzzy modular lattice.

To prove  $(\mu(a), \mu(b))$  is a Fuzzy dually modular pair for all  $\mu(a), \mu(b) \in L$ .

$L$  is a Fuzzy modular lattice

$\Rightarrow \mu(x \vee y) \wedge \mu(x \vee z) = \mu(x) \vee [\mu(y) \wedge \mu(x \vee z)]$  for all  $\mu(x), \mu(y), \mu(z) \in L$   
 $\Rightarrow \mu(x \wedge y) \vee \mu(x \wedge z) = \mu(x) \wedge [\mu(y) \vee \mu(x \wedge z)]$  for all  $\mu(x), \mu(y), \mu(z) \in L$ ,  
 by Theorem 1.1

Take  $\mu(c) = \mu(x)$ ,  $\mu(a) = \mu(y)$ ,  $\mu(b) = \mu(x \wedge z)$  we get  
 $\mu(c \wedge a) \vee \mu(b) = \mu(c) \wedge \mu(a \vee b)$  for every  $\mu(c) \geq \mu(b)$ .  
 $\Rightarrow (\mu(a), \mu(b))$  is a Fuzzy dually modular pair.

**Theorem: 1.4**

In any Fuzzy lattice  $L$  the following are equivalent.

1.  $\mu(a) \vee \mu(b \wedge c) = \mu(a \vee b) \wedge \mu(a \vee c)$
2.  $\mu(a) \wedge \mu(b \vee c) = \mu(a \wedge b) \vee \mu(a \wedge c)$ , for all  $\mu(a), \mu(b), \mu(c)$  in  $L$ .

**Proof**

(i)  $\Rightarrow$  (ii)

Let  $\mu(a), \mu(b), \mu(c)$  in  $L$  be arbitrary.

$$\begin{aligned}
 \text{Then } \mu(a \wedge b) \vee \mu(a \wedge c) &\geq \min \{ \mu(a), \mu(b) \} \vee \min \{ \mu(a), \mu(c) \} \\
 &\geq \min \{ \mu(a), \mu(b) \} \vee \mu(a) \wedge \min \{ \mu(a), \mu(b) \} \vee \mu(c), \text{ by (i)} \\
 &\geq [\mu(a) \vee \min \{ \mu(a), \mu(b) \}] \wedge [\mu(c) \vee \min \{ \mu(a), \mu(b) \}], \text{ by commutative law} \\
 &\geq \mu(a) \wedge [\mu(c) \vee \min \{ \mu(a), \mu(b) \}], \text{ by absorption law} \\
 &\geq \mu(a) \wedge [\min \{ \mu(c), \mu(a) \} \wedge \min \{ \mu(c), \mu(b) \}], \text{ by (i)} \\
 &\geq [\mu(a) \wedge \min \{ \mu(c), \mu(a) \}] \wedge \min \{ \mu(c), \mu(b) \}, \text{ by associative law} \\
 &\geq \mu(a) \wedge \min \{ \mu(c), \mu(b) \}, \text{ by absorption law} \\
 &\geq \mu(a) \wedge \min \{ \mu(b), \mu(c) \}, \text{ by commutative law} \\
 &= \mu(a) \wedge \mu(b \vee c)
 \end{aligned}$$

Hence  $\mu(a \wedge b) \vee \mu(a \wedge c) = \mu(a) \wedge \mu(b \vee c)$ , for all  $\mu(a), \mu(b), \mu(c)$  in  $L$ .

(ii)  $\Rightarrow$  (i)

Let for all  $\mu(a), \mu(b), \mu(c)$  in  $L$  be arbitrary.

$$\begin{aligned}
 \text{Then } \mu(a \vee b) \wedge \mu(a \vee c) &\geq \min \{ \mu(a), \mu(b) \} \wedge \min \{ \mu(a), \mu(c) \} \\
 &\geq \min \{ \mu(a), \mu(b) \} \wedge \mu(a) \vee \min \{ \mu(a), \mu(b) \} \wedge \mu(c), \text{ by (i)} \\
 &\geq [\mu(a) \wedge \min \{ \mu(a), \mu(b) \}] \vee [\mu(c) \wedge \min \{ \mu(a), \mu(b) \}], \text{ by commutative law} \\
 &\geq \mu(a) \vee [\mu(c) \wedge \min \{ \mu(a), \mu(b) \}], \text{ absorption law} \\
 &\geq \mu(a) \vee [\min \{ \mu(c), \mu(a) \} \vee \min \{ \mu(c), \mu(b) \}], \text{ by (i)} \\
 &\geq [\mu(a) \vee \min \{ \mu(c), \mu(a) \}] \vee \min \{ \mu(c), \mu(b) \}, \text{ by associative law} \\
 &\geq \mu(a) \vee \min \{ \mu(c), \mu(b) \}, \text{ by absorption law} \\
 &\geq \mu(a) \vee \min \{ \mu(b), \mu(c) \}, \text{ by commutative law}
 \end{aligned}$$

$$= \mu(a) \vee \mu(b \wedge c)$$

Hence  $\mu(a \vee b) \wedge \mu(a \vee c) = \mu(a) \vee \mu(b \wedge c)$ , for all  $\mu(a), \mu(b), \mu(c)$  in  $L$ .

**Definition: 1.2**

A Fuzzy lattice  $L$  is said to be Fuzzy dual distributive if  $\mu(a) \wedge \mu(b \vee c) = \mu(a \wedge b) \vee \mu(a \wedge c)$ , for all  $\mu(a), \mu(b), \mu(c)$  in  $L$ .

**Theorem: 1.5**

Every Fuzzy distributive lattice is a Fuzzy dual distributive lattice.

**Proof:**

Follows from the previous theorem.

**Theorem: 1.6**

If  $L$  is a Fuzzy distributive lattice then  $(\mu(a), \mu(b))$  is a Fuzzy dually modular pair for all  $\mu(a), \mu(b) \in L$ .

**Proof:**

Given  $L$  is a Fuzzy distributive lattice.

To prove  $(\mu(a), \mu(b))$  is a Fuzzy dually modular pair for all  $\mu(a), \mu(b) \in L$ .  
 $L$  is a Fuzzy distributive lattice.

$$\Rightarrow \mu(x) \vee \mu(y \wedge z) = \mu(x \vee y) \wedge \mu(x \vee z), \text{ for all } \mu(x), \mu(y), \mu(z) \in L$$

$$\Rightarrow \mu(x \vee y) \wedge \mu(x \vee z) = \mu(x) \vee [\mu(y) \wedge \mu(x \vee z)],$$

for all  $\mu(x), \mu(y), \mu(z) \in L$ ,

$$\Rightarrow \mu(x \wedge y) \vee \mu(x \wedge z) = \mu(x) \wedge [\mu(y) \vee \mu(x \wedge z)],$$

for all  $\mu(x), \mu(y), \mu(z) \in L$ , by Theorem 1.1

Take  $\mu(c) = \mu(x)$ ,  $\mu(a) = \mu(y)$ ,  $\mu(b) = \mu(x \wedge z)$ , we get

$$\mu(c \wedge a) \vee \mu(b) = \mu(c) \wedge \mu(a \vee b) \text{ for any } \mu(c) \geq \mu(b).$$

$$\Rightarrow (\mu(a), \mu(b)) \text{ is a dually modular pair.}$$

**Conclusion**

The Paper is proved that In any Fuzzy lattice  $L$  the following are equivalent  $\mu(a \vee b) \wedge \mu(a \vee c) = \mu(a) \vee [\mu(b) \wedge \mu(a \vee c)]$  and  $\mu(a \wedge b) \vee \mu(a \wedge c) = \mu(a) \wedge [\mu(b) \vee \mu(a \wedge c)]$  for all  $\mu(a), \mu(b), \mu(c)$  in  $L$ , Every Fuzzy modular lattice is a Fuzzy dual modular lattice, If  $L$  is a Fuzzy modular lattice then  $(\mu(a), \mu(b))$  is a dually modular pair for all  $\mu(a), \mu(b) \in L$ , In any Fuzzy lattice  $L$  the following are equivalent  $\mu(a) \vee \mu(b \wedge c) = \mu(a \vee b) \wedge \mu(a \vee c)$  and  $\mu(a) \wedge \mu(b \vee c) = \mu(a \wedge b) \vee \mu(a \wedge c)$  for all  $\mu(a), \mu(b), \mu(c)$  in  $L$ , Every Fuzzy distributive lattice is a Fuzzy dual distributive lattice, If

L is a Fuzzy distributive lattice then  $(\mu(a), \mu(b))$  is a Fuzzy dually modular pair for all  $\mu(a), \mu(b) \in L$ .

## References

- [1] Ajmal. N., Fuzzy Lattices, Inform. Sci., 79(1994) 271-291.
- [2] D. D. Anderson, The existence of dual modules, Proc. Amer. Math. Soc. 55 (1976), 258-260.
- [3] Gratzer, G., General Lattice Theory, Academic Press Inc. 1978.
- [4] M. Mullai and B. Chellappa, Fuzzy L-Ideal Acta CienciaIndica, Vol.xxxVM, No.2, 525 (2009).
- [5] S. Nanda, Fuzzy Lattice, Bull. Cal. Math. Soc. 81(1989).
- [6] Wilcox, L.R, "Modularity in the theory of Lattices" Bull. Amer. Math. Soc. 44,50, 1938.
- [7] Wilcox, L.R. "Modularity in the theory of lattices", Ann of Math 40, 490-505, 1939.
- [8] Yuan, B., and W. Wu., "Fuzzy ideals on a distributive lattice", Fuzzy sets and systems 35(1990) 231-240.

